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Q1

What are the different types of friction? Write the laws of friction.

g
A uniform ladder rests on a rowg®. horizontal ground and leans against a smoot vertical
wall. If the ladder is at the point of sliding, draw a sketch showing the various forces with
their directions acting on it and write equations of equilibrium.

Q2

The mean diameter of the screw of a screw jack is 20 cm and pitch being 0.5 cm. The
coefficient of friction between the nut and screw is found to be 0.25. Calculate the force
required at the end of a 50 cm long handle to raise a weight of 500 N.

OR
A body of 50 N is resting on a plane inclined at 15% A pull of 25 N is applied on it in a
horizontal direction to move it up the plane. Calculate the coefficient of friction between
the body and the plane.

Q3

Find the CG of a 10 x 16 x 4 cm T-section. Here, flange is 10 cm wide and total depth of
the section is 16 cm.

OR
A solid hemisphere of 40 cm diameter supports a 60 cm high solid cone on the same base.
Locate the CG of the composite body. ‘

Q4

Explain the following terms: Y
(a) Wedge : (b) Angle of repose (c) Coefficient of Friction
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